
Cross table for Div 2 - Weston Trophy

Team Barnsley
A

Ecclesall
B

Hillsborough
A

Rotherham
A

Sheffield
Nomads
B

Sheffield
University
A

Woodseats
B

Barnsley A 5 - 1 1½ - 4½ 3½ - 2½ 4 - 2 4½ - 1½ 4½ - 1½
Ecclesall B 3½ - 2½ 1½ - 4½ 5 - 1 2½ - 3½ 5½ - ½ 5 - 1
Hillsborough A 2½ - 3½ 4½ - 1½ 4 - 2 2½ - 3½ 3½ - 2½ 4½ - 1½
Rotherham A 1 - 5 3½ - 2½ 1 - 5 1½ - 4½ 3 - 3 3½ - 2½
Sheffield
Nomads B 3 - 3 5 - 1 3½ - 2½ 5½ - ½ 5 - 1 6 - 0

Sheffield
University A 3 - 3 5½ - ½ 0 - 6 2 - 4 2½ - 3½ 5 - 1

Woodseats B ½ - 5½ 1½ - 4½ 1 - 5 6 - 0 2 - 4 2 - 4


